The runs should be pristine in intonation due to the simplicity of the harmonies: Therefore practice in the following manner
1. One bow per note to haar the clean intonation of each note in the context of the harmonies (preferably played with the second

violin base tones sustained)
12 2. Three -note and then six-note SLOW legato groupings to hear intonation in context of slower bow speed -= bow speed should
Allegro moderato ; WOl
l_F .. 3. Six-note groupings with metronome: Quarter note 60,72,.84,96

2 4. The written bowings with the same metmnome adjustments as above
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